S1 Appendix - Interpretation of the test A, ,,

Let us re-parametrize model Mg so that
Bijr = i+ 75 + 0k + (@7)ij + ()i + (¥0) 1 + (70)ijk
where:
e «; : effect of genotypic allele ¢ with ¢ € {0, 1}
o ~; : effect of allele ancestry j with j € {D, F'}
o . : effect of genetic background k with k € {D, A, F'}

ary);; - effect of the ”genotypic allele - allele ancestry” interaction

ad)ik ¢ effect of the ”genotypic allele - genetic background” interaction

(
(
(79) i : effect of the "allele ancestry - genetic background” interaction
(

ayd)i;r : effect of the ”genotypic allele - allele ancestry - genetic background” interaction

Let us write the test A,_p 4 according to the new parametrization:

ADp_pa= (Bpp — Bopp) — (Bpa — Bopa)

ABp_pa= (a1 +79p +6p + (ay)ip + (ad)1p + (¥0)pp + (a¥d)1pD
—ao —vp —p — (@y)op — (ad)op — (¥6)pp — (@yd)opD)
— (a1 +7vp +6a+ (ay)ip + (ad)1a+ (70)pa + (avyd)ipD
—ag —vp — 64 — (a¥)op — (@d)oa — (v6)pa — (@¥d)opa)

ABp-pa = ((ad)ip — (ad)op) — ((ad)14 — (ad)oa)
+ ((@y0)1pp — (@¥8)opp) — ((@y0)1pa — (¥)opa)

In this last expression, all terms involve an interaction between the genotypic allele and the
genotypic background.



